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(English Varaion) () The unit of the velocity conatant of firg

Instructions : order reaction is :
. ) : 1 -1
®) ' () moll, 8
Fu‘st. 16 minutes qpe allotted for the ) p
i mndldateﬁ' to read the question paper, (M) 8 I !
W An questions are compulgory. Marks allotted (iii) mol " La~
0 each question are &iven against il. Gv) molL s
@) In numerical ) '
questions, give all the steps of .
calculation. ‘ (d)  On hydrolysis, benzamide forms :
(iv)  Give relevant answers to the questions, (i) Benzaldehyde

(i)  Benzoic acid
(i1i) Ethyl benzoate

(v) Give chemical equations, wherever necessary.

1- FD“I' alt-emﬂ.tiVGE are given in ﬂach pﬂrt- ﬂf t.hiﬁ (I\F] Ethﬂ.ﬂ.()ic ﬂcid
question. Select the correct alternative and
write it in your answer-book, (e} The reaction
(a) There is a total of two atoms per unit cell R — NHj + CHCI; + KOH (ale) ——
in - 1 is known as :
(i)  Face centred cubic unit cell () Gattermann-Koch reaction
(ii) Body centred cubic unit cell (i)  Carbylamine reaction
(iii) Primitive centred cubic unit cell (iii) Hoffman bromomide reaction
(iv) None of the above (iv) Schmidt reaction
(b) 7 g NaOH is dissolved in 400 mL solution. '
The molarity of solution is : 1 () The bases present in RNA are : 1
() 0437 mol 1! (i}  Adenine, Guanine, Cytosine, Thymine
(it) 0-496 mol 1 (ii) Guanine, Cytosine, Thymine, Uracil
(iii) 0-546 mol L1 (iii) Cytosine, Thymine, Adenine, Uracil
(iv) 0-637 mol L™ (iv) Adenine, Guanine, Cytosine, Uracil
347 (GH) 7 P.T.O.

347 (GH) 8



(b)

{c)

(a)

(b)

(e)

(d)

4, (a)

347 (GH)

Silver forms ccp lattice and X-ray
studies of its crystals show that the edge
length of its unit cell 18 4086 pm.
Calculate the density of silver. (Atomic
mass = 1079 u) .
What do you understand by relative
lowering in vapour pressure ’ Write the
expression showing relationship between
relative lowering in vapour pressure and
mole fraction of solute.

Explain standard hydrogen electrode
potential. | ]

Write the usefulness of electro-dialysis.

Explain the stoichiometric defects with
the help of diagrams.

Write chemical equation of the reaction
of dilute and concentrated nitric acid
with copper.

Explain unidentate ligand with the help
of an example.

Explain the difference in the structurc
of glucose and fructose.

The standard electrode potential of a
cell is 11 V. Calculate the standard

Gibb's energy for the following
reaction :
Zn (s) + Cu?* (aq) — 7n’* (ag) + Cu (s)

9 PT.O.

(b)

(c)

(d)
5. (a)
(b)
(c)
(d)
347 (GH)

Write notes on the following : 1! "
2

(i} Electrophoresis

(ii)  Coagulation

Write the method of nitration of Aniline
and the chemical equation of the
reactions.

Write chemical equation of the reaction
of glucose with the following : 1141
() NH,OH 22

(1) HCN

Define Osmotic Pressure. Establish a
relationship between osmotic pressure

and molar mass of solute. 1 2i+2 !
2

Write the unit and expression for the

velocity constant of zero order reaction. I1+3

Write general electronic configuration
and three characteristic properties of

transition elements. 1+3

Explain Werner's theory of coordination

compounds. 4

10



;. (a
(b)

7. (a)
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Write the process, chemical equation of
the industrial manufacture of ammonia
giving labelled diagram. Also write
chemical equation for the reaction of
ammonia with (i) copper sulphate, and
(i1} silver chloride. 3+2
OR
Write chemical equation for the
preparation of three interhalogen
compounds and their two uses.  I+1+I1+1+]

Write notes on the following : 2+2+1

(1) Dehydrogenation of Primary Alcohol
(i1)  Nitration of Phenol

(1) Friedel-Crafts reaction with Anisole
OR

Write chemical equation for the

following : 2+2+1

(1} Kolbe’s Reaction

(ii)  Reimer-Tiemann Reaction

(ii1)  Williamson's Synthesis

Write the chemical equation for
Halogenation, Nitration, Sulphonation,
Friedel-Crafts reaction and Wurtz-Fittig

reation with Chlorobenzene. I+i+1+1+1
OR
Explain the mechanism of
monomolecular and bimolecular
nucleophilic substitution reaction in
51 ol
haloalkanes. 2 . +9 ;
11 P.T.O.

(h
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Complete  the  following chemical
{Iq'llﬂu"n“: fi--'-i.flf%l
M R-CHO& .. 4300 -+ ROOO
+ 24 + 2Hy0 » 4NH,
CH,

C ) CHO
0 @ L CrO,Cl, 2% M0,

o @ CO, HCI .
" Anhydrous AICl;/ CuC)

Hg

CHO
Pd - BaSO,

(¥} R-CN +8nCly + HCl —

+

H
—-30 RCHO

OR

Write notes on the following :
(1}  Clemmensen Reduction
(1)  Wolfl-Kishner Reduction
(111}  Aldol Condensation

(ivi Cannizzaro's Reaction
tv)  Hell Volhard Zelinsky Reaction

I1+1+1+141

12 2,30,000





